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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 39,841 86,496 41,284 45212
RIRET1T 6 15 9 6
RIRET2T 28 57 28 29
AIEET3T 181 592 288 304
RIRET4T 413 993 496 497
B 628 1,657 821 836
REH 2,699 6,090 2,839 3,251
L&A 4,348 9,517 4,441 5,076
5E 2,618 5,959 2,891 3,068
B AN 1,276 2,815 1,330 1,485
BERT 1,379 1,999 952 1,047
BER2T 789 1,425 692 733
BERST 470 1,058 495 563
B 2,638 4,482 2,139 2,343
BEXRE 277 657 324 333
= 2,215 5,065 2,400 2,665
hERE 640 1,434 663 771
e 2,479 5,160 2,506 2,654
25 L ET 2,326 5,099 2,435 2,664
B &AL BT 78 159 65 94
HEFILET1T 570 1,210 569 641
HEFILET2T 616 1,299 611 688
HEZFILAT3T 638 1,452 718 734
g 1,902 4,120 1,963 2,157
B & it B Fr ET 684 1,582 768 814
BHEREBET1T 589 1,212 587 625
BHERERET2T 772 1,733 830 903
BHERERETST 771 1,599 723 876
BHERERET4T 511 965 455 510
HEKERETST 851 1,735 831 904
HEERET6T 893 1,944 940 1,004
BHERERET7T 871 1,815 895 920
HERERETST 69 209 102 107
£t| 5327 11212 5,363 5,849
HEF R FET 1,961 4,093 1,997 2,096
S|EFET1T 607 1,563 784 779
S|EFET2T 770 1,752 832 920
S|EFET3 T 755 1,423 645 778
g 2,132 4,738 2,261 2,477
ERE1T 590 1,365 659 706
EIRET2T 390 1,041 523 518
EREIST 512 1,341 655 686
EIRETAT 694 1,486 662 824
EIZEIST 539 1,094 562 532
g 2,725 6,327 3,061 3,266
ME A 2,860 6,288 2,995 3,293
J\THET1T 31 33 12 21
J\THET2T 25 58 28 30
J\THEI3T 50 110 47 63
B 106 201 87 114
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